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ENGLISH  - 40 

(Grammar-20) 

1) Tick the correct option to complete the following sentences :                             1×8=8 

i) The suitable article in the blank will be – 

          ‘He married to  ______________ one eyed woman.’ 

                a) an                   b) a                   c) the                   d) All of  these 

ii) What will be  self pronoun in the blank ? – 

        ‘The students cleaned all the rooms ___________________ .’ 

                a) themself                   b) themselves                c) theirself                     d) None 

iii) The feminine gender of god – 

                a) goddess                    b) goddesses                   c) God                     d) fawn 

iv) The word ‘education.’ is _______ 

              a) Adverb                 b) Noun                  c) Verb             d) Preposition 

v)The past participle of the verb ‘pull’ is – 

             a) pullen                     b) pulled                      c) pult                 d) None  

vi) The interjection in the blank will be- 

     ‘____________’ ! India has beaten South Africa .’ 

  

             a) Hurrah !                  b) Alas !                           c) Fie !                       d) Ah ! 

vii) ‘Rina had been  singing  for half an hour ’ is an example of -------- tense ? 

            a) Present Indefinite                                b) Present Continuous  

            c) Present Perfect                                    d) Past Perfect Continuous  tense 

viii) Which of the Modal Auxiliary should come in the blank ? 

           ‘He ________________ go there yesterday.’ 

 

         a) can                        b) could                             c) would                  d) might 

2. Fill in the banks with correct answers.                            1×4=4 

 i) Nitai  exercises__________________________.(Fill in with an adverb).                                                     

ii) Somali died  __________________________ cancer.(Fill in with preposition). 

iii) The boy is ___________                         (good) in the class (put correct Superlative Degree).  

iv) ‘Rajat is too much___________________ (health)’(fill in with adjective  form). 

3. Do as directed:                             2×4=8
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i) Expand  the following contracted  sentence – ‘ I ’mn’t your friend ’                                              

Ans:- _____________________________________________________________________________  

ii) Change the  sentence  into negative interrogative sentence .                                                   

        ‘The Indians live in India .’       

 Ans:-_____________________________________________________________________________  

   

iii) Give an example of a wishing sentence.  

Ans:- _____________________________________________________________________________                                                                                           

iv) He drinks a cup of  hot coffee. (Turn into Present Perfect  Tense ) 

Ans:- _____________________________________________________________________________  

                                                                   (Vocabulary-10)                                                     

4. Tick the correct option to complete the following sentences:                 1×4=4 

i) The antonym of the word  ‘known’is- 

           a) unknown                        b) wise                           c) foolish                       d) familiar  

ii) Find the  odd-pair out :- 

          a) Cow : Calf                      b) Tiger : Cub               c) Sheep : Shoal            d) Dog : Puppy  

iii)  Choose the correct spelling – 

          a) Dictionary                      b) Dictionery                c) Dictionari                  d) Dictionary 

iv) One who gives house on rent called :- 

         a)Houseman                      b) Florist                        c) Tenant                       d) Landlord 

5. Fill in the blanks with correct answers:                 1×2=2 

 i) ‘A group of  soldiers’ is called _____________________________________ . 

ii) ‘NIUVRESTIY’ =______________________________________________(Reform).                                                          

6.Do as Directed:                                         2×2=4 

i) Punctuate  the sentence -  ‘who does not know the name of Swamiji’                                              

Ans:- _______________________________________________________________________ 

ii) Add suitable Prefix & Suffix to the following word to form a new word.                                           

 Ans:  ________________+ faith + ________________  

(Spoken Expression-10) 
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7. Tick the correct answers to complete the following sentences:              1×4=4  

i) Choose  the correct expression to greet someone who comes to your house .                                   

           a) Welcome madam  / Sir!                                   b) Welcome to my house madam/Sir ! 

          c) feeling happy !                                                    d) I’m happy having you ! 

ii) One greeted you saying ‘Bye ! Bye!’ What you would say?          

         a) Bye ! Bye !        b) See you again        c) Take care of you        d) Bye ! see you again    

iii) How would you beg sorry to your mother ? 

        a) I’m sorry!.  Can I help you?                        b) Sorry! Mother. 

        c) No problem                                                 d ) Sorry ! 

iv) ‘Thank you ! =_________________________’? 

        a) Welcome!                          b) thanks a lot!. 

        c) No mention                                            d ) it’s OK! 

8. Fill in the blanks with correct answers:                 1×2=2 

i) ‘Good Night’ used for___________________________________________________________? 

ii)‘Wish you Happy journey !’ told  at________________________________________________?  

9. Do as Directed.                 2×2=4 

 i)  Suppose, you need drink water. How would you make the request?                                                                                                          

Ans:- ___________________________________________________________________________ 

ii) You met with your friend after a long time .What would you say? 

Ans:- ___________________________________________________________________________ 

GENERAL SCIENCE -20 

1) সঠিক উত্তরটি ননবোচন কর্রা:-                                                                               1X6=6 

 i) উরিরের রোন্নোঘর ব঱ো ঵য় – 

     a)মূ঱রক           b) কোন্ডরক         c)পোতোরক         d)ফ঱রক 

 ii)আমোরের জোতীয় ফু঱ কী ? 
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     a)পদ্ম            b)রগো঱োপ          c)঴ূযযমুখী          d)রকোরনোটিই নয়  

 iii)রবশ্ব পরররবল রেব঴ পোর঱ত ঵য় - 

     a) ১ ঱ো জোনুয়োরী   b) ৩ রো জনু       c)৫ই জ঱ুোই        d) ৫ই জনু 

 iv)রকেঁ র ো একটি অপকোরী কীট ৷ (঴তয / রমথযো ) 

 v)রকোন প্রোণী েোেঁরেরয় ঘুমোয় ? 

     a)উট            b)রঘোেো          c)রজরোফ           d)বোেেু  

 vi)পৃরথবীর রকোন গরতর জনয রেন - রোরি ঵য় ? 

     a)আরিক গরত       b)বোর঳যক গরত      c) a ও b েরুটোই     d)঴ূরযযর জনয  

2) অনি সংর্ের্঩ দ-ুএক কথায় উত্তর দাও -                                                                   1x6=6 

 i)বৃরির জ঱রক আমরো রকভোরব কোরজ ঱োগোরত পোরর ? 

  Ans:-   

 ii)অপুষ্পক উরিরের উেো঵রণ েোও ৷ 

  Ans:-   

 iii)র িংরে মোছ রমরুেণ্ডী / অরমরুেণ্ডী প্রোণী ? 

  Ans:-   

 iv)থোরমযোরমটোররর প্রোথরমক অন্তর কত ? 

  Ans:-  

 v)পৃরথবী কোর আর঱োয় আর঱োরকত ঵য় ? 

  Ans:-   

  vi)রকোন গযো঴ আগুন জ্ব঱রত ঴ো঵োযয করর ? 

 Ans:-    
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3 ) ননম্ননলনিি প্রশ্নগুনলর  উত্তর দাও :-                                                                        2x4=8                                    

 i)পৃরথবী কী তো ঴িংরেরপ র঱রখো ৷     

   Ans:-  

 

 ii)লোরীররক গঠন অনু঴োরর প্রোণী কত প্রকোর ও কী কী ?    

  Ans:-  

 

  iii) উরিে কীভোরব জন্ম রেয় ? 

  Ans:-  

 

 iv)মোছরক জ঱জ প্রোণী ব঱ো ঵য় রকন ?    

  Ans:-  

 

MATHEMATICS -40 
1) সঠিক উত্তরটি ননবোচন কর্র ললর্িা :-                                                                    1x14=14 

 i) েলরমক ঴িংখযোয় পররনত কর   ২৯
১০০ 

       a) ০.২৯       b)৩.৪৫           c).০২৯        d) রকোরনোটিই নয় 

 ii)১ রেন = ………………… রমরনট  

       a)১৪৪         b)১৪৪0          c)২৪৪0          d) ১১৪0 

 iii)ভগ্োিংরল প্রকোল কররো :  

   েলপূণয একলত ভোরগর পরনররো ভোগ ৷ 

       a)১৫ ১
১০      b)১০

১৫
১০০          c)১৫

১০
১০০     d) ১০

১০০
১৫  

 iv) কথোয় র঱রখো :- ১০০০০০০ 

       a)এক ঵োজোর     b)েল ঵োজোর       c)এক ঱োখ          d) েল ঱োখ            
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 v) ২ এবিং ৫ রকোন ঴িংখোর গুণনীয়ক ? 

       a)১০           b)৫               c)৬            d)১৫  

 vi)঴প্তেল ঴িংখযোরক পূরণবো ক ঴িংখযোয় রুপোন্তররত করর পোই ________________________ ৷  

       a)0৭           b)১৭             c)২৭             d)৩৭   

 vii)েুদ্রতম রযৌরগক ঴িংখযোটি ঵঱ - 

      a)২          b)৪              c)৬            d) ৮ 

 viii) ৫৩,৭৫, ১২৫ – এর গ঴োগু ঵঱ – 

     a)৫৩         b)১               c)১২৫           d) রকোরনোটিই নয় 

 ix)একটি ঴র঱ররখো _____________ রবন্দ ুরেরয় ততরর ?  

     a)১ টি        b) ২ টি            c) ৩ টি         d) ৪ টি 

 x)৫ পয়঴ো = ______________ টোকো ।  

      a)৫০০       b)৫০              c)৫             d)০.০৫  

 xi)েল ঱ে র঱খরত ______________  টি লূনয ঱োরগ I  

      a)৬ টি        b)৫টি               c)৭টি         d)অ঴িংখয 

 xii)একটি ফুটবর঱র ______________  টি ত঱ আরছ ৷ 

    a)১ টি        b) ২ টি          c) ৩ টি            d) ৪ টি 

 xiii)প্রথম পোেঁ টি স্বোভোরবক ঴িংখযোর গে কত ? 

    a)৩          b)৪             c)৫               d) ৬ 

 xiv)১
২
৩  এর অরনযোনযক ঵঱ -  

   a)
৫
৩           b)

৩
৫             c)

৩
২                d) 

৩
১ 

2) ননম্ননলনিি প্রশ্নগুনলর উত্তর দাও  :-                                                                       2x7=14 

 i)০.১ x ০.০১ x ০.০০১ = কত ? 
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 ii)৫,০,৬,৯ এর গড় মোণ কত ? 

   

 

 iii)একটি ইেঁরটর ধার্রর সংিযা কত ? 

  

 

 iv)৫০ ঩য়সা = ____________ টোকো ৷ 

 v)                 

                

 নিভুজটির বাহু রতনটির নোম র঱খ ৷ __________________________________________ 

 vi) 
৬
২৫  ÷ 

২১
৪০ =   ? 

 

 

 

 vii) 
১
৪ ÷ ৯৮    = ?  

 

 

 

3) ননম্ননলনিি প্রশ্নগুনলর উত্তর দাও :-                                                                      3x4=12 

 i)
৩
৮ + ৫১৬ + ৭২৪ = ? 

x 

Y Z 
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 ii)১৩ , ২৬, ৩৯ ( লসাগু ননর্েয় কর ) 

 

 

 iii)৩.২৮ রমটোর =                    রকর঱োরমটোর ৷ 

 

 iv)
৯
৫ - এর শিকরা পররমোণ রনণযয় কর ৷             

 

 

 

For Rough Use 
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